
ITEM PART N0. CONFIG DESCRIPTION NAME GA QTY.

1 118091 Default BOLT - 3/8-16 X 5; TAP BOLT GR 5 ZINC FASTENER 1

2 119125 Default NUT - 3/8 - 16 HEX ZN GR 5 ST FASTENER 3

3 126030 Default WASHER - .385 X .680 X .094; (LOCK) ZINC FASTENER 1

4 135840 Default WASHER - 3/8; SAE FLAT WASHER ZINC FASTENER 1

5 366449 1 SERVICE ASSY WELDMENT SUB ASSEMBLY 1

6 366447 1 2" X 4 1/8" X 5 11/16" X 5 11/16"  PC BLACK XMC 11 1

ITEM PART N0. CONFIG DESCRIPTION NAME GA QTY.

1 118091 Default BOLT - 3/8-16 X 5; TAP BOLT GR 5 ZINC FASTENER 1

2 119125 Default NUT - 3/8 - 16 HEX ZN GR 5 ST FASTENER 3

3 126030 Default WASHER - .385 X .680 X .094; (LOCK) ZINC FASTENER 1

4 135840 Default WASHER - 3/8; SAE FLAT WASHER ZINC FASTENER 1

5 366449 1 SERVICE ASSY WELDMENT SUB ASSEMBLY 1

6 366447 1 2" X 4 1/8" X 5 11/16" X 5 11/16"  PC BLACK XMC 11 1

125FINISHFILLETS R.015

UNLESS OTHERWISE SPECIFIED

THIRD ANGLE PROJECTION

366450

TOLERANCES

(EXCEPT AS NOTED)

DECIMAL

ANGULAR  ±1°

FRACTIONAL  ±1/16

.XX ±.010

.XXX ±.005

.X ±.1

DCRDCR

DWG. NO.

DRAWN BY

TITLE:

SIZE
DATE:

CHECKED BY

B SCALE:

REV.

1:2

SHEET

12/15/2014

1 1
OF

A

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF

LIPPERT COMPONENTS, INC. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN

PERMISSION OF LIPPERT COMPONENTS, INC.  IS PROHIBITED.

3 INCH SERVICE ASSY

1. ALL DIMENSIONS ARE IN INCHES BREAK 

    SHARP EDGES & DEBURR

2. MATERIAL & FINISH TO BE AS NOTED 

    OR SUBSTITUTED WITH AN APPROVED

    AND TESTED EQUIVALENT

APPROVED BY

REFERENCE NUMBER:
MATERIAL TYPE:
SURFACE QUALITY:
DECIMAL:
FINISH GOOD WEIGHT:
BLANK WEIGHT:
BLANK SIZE:

1.451

 X 

5 11/16"

3 7/8"

INNER

ADJUSTABLE

3 59/64 MAX

1

6

2

3

4

5

2

2"

4 1/8"

2 1/16"

1"

12/16/2014 1:28:15 PM -  - Published - 12/16/2014 1:28:14 PM


